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Page 17: 
Equation 1.4 has misplaced curly parenthesis. It should read:  
PMT = FV / {[(1 + i)n – 1] / i} 
 
The formula in Example 1.4 should read: 
PMT = $200,000 / {[(1 + 0.05)10  – 1] / 0.05} 
 
Page 25: 
PMT  is the first periodic withdrawal amount 
 
Page 71: 
The third line from the top of the page should read:  
...ran out of money ... 
 
Page 191: 
The last line should read:  
aftcast shows a whopping 5.3%! 
 
Page 409, the last word in the last paragraph before the chart in the example box: 
The probability of running out of money by 95 is 34% which is slightly higher than not 
 

Pages 481-485: 
All figure and table numbers that start with 34 (Table 34.1, Figure 34.1, Figure 34.2, Figure 34.3, Figure 
34.4) should start with 43 (Table 43.1, Figure 43.1, Figure 43.2, Figure 43.3, Figure 43.4) 
 
 
 
 


